



$$\int_{\downarrow \overline{\Delta}_m^1}^{i\mathbb{R}^d} \gamma = \int_{\downarrow_s}^{i\mathbb{R}^d} \int_{\downarrow_t}^{i\mathbb{R}^d} s+t \gamma$$

$$\mathbb{C} \overline{\Delta}_{-m}^1 i\mathbb{R}^d : \overline{\Delta} \in \mathbb{C} \overline{\Delta}_0^1$$

$$\mathbb{C} \overline{\Delta}_{-m}^1 i\mathbb{R}^d = W^* \frac{u \overline{\Delta}}{u \in \mathbb{C} \overline{\Delta}_{-m}^1 i\mathbb{R}^d}$$

$$\mathbb{C} \overline{\Delta}_m^1 i\mathbb{R}^d = \frac{s u d s}{u \in i\mathbb{R}^d \overline{\Delta}_m^1 \mathbb{C}} \square \mathbb{C} \overline{\Delta}_{-m}^1 i\mathbb{R}^d$$

$$\overline{u \overline{\Delta}_m^1}^s = \int_{dt}^{i\mathbb{R}^d} s-t u^t u$$

$$\mathbb{C} \overline{\Delta}_m^1 i\mathbb{R}^d = C^* \frac{l_u = u \overline{\Delta}}{u \in i\mathbb{R}^d \overline{\Delta}_m^1 \mathbb{C}}$$

$$i\mathbb{R}^d \overline{\Delta}_m^2 \mathbb{C} \xleftarrow{l_u} i\mathbb{R}^d \overline{\Delta}_m^2 \mathbb{C}$$

$$\overline{l_u h}^t = \int_{ds}^{i\mathbb{R}^d} t-s u^s h$$